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[bookmark: _Ref165266342]Introduction
According to the RAN2#107bis meeting discussion, RAN2 made the following agreements [1] for the mTRP modelling:
Agreements:
1. RAN2 assumes that also in "non-ideal backhaul" scenarios, transmission from two TRPs is always slot/frame/SFN-aligned
2. mPDCCH mTRP operation is supported via a single shared MAC entity 

Working Assumption:
1. mPDCCH mTRP operation is modelled as a single cell/single HARQ entity operation. This does not mean that RAN1 has to do anything to support retransmission between TRPs
In this contribution, we discuss the HARQ impacts due to the single cell modelling for mTRP.

Discussion
HARQ modelling


Figure 1: HARQ modelling for mTRP
According to the eMIMO discussion in RAN1, the UE is able to receive two different PDSCHs (including different TBs) simultaneously from two TRPs. As RAN1 does not agree to increase the maximum number of the HARQ process and the HARQ process ID is indicated in DCI, then the TRP index for the PDSCH scheduled by the DCI can be transparent to the UE. However for the DL SPS, as the two TRPs can provide two PDSCHs to the UE simultaneous, RAN2 needs to support simultaneous DL SPS configurations for different TRPs. 
Observation 1: Which TRP a HARQ process (as used for the DCI-scheduled PDSCH) belongs to can be transparent to the MAC.
Observation 2: Two TRPs would use two simultaneous SPS resources for the UE.
Proposal 1: Two SPS configurations per BWP can be provided to the UE for two different TRPs.
According to the current HARQ process ID calculation for SPS in the MAC specification [2], the HARQ process ID has to start from HARQ process 0. Then we need to find a way to differentiate the HARQ process ID(s) between two active SPS configurations. According to the I-IOT WI discussion, RAN1 and RAN2 agreed to use a HARQ process ID offset for the calculation of the HARQ process ID between different SPS configuration. 
Proposal 2: The HARQ process ID calculation formula as agreed for the multiple active SPS(s) in the I-IOT WI is re-used for the mTRP.
Conclusions
Based on the analysis given above, we have the following observation and proposals：
[bookmark: _Toc502437832]Observation 1: Which TRP a HARQ process (as used for the DCI-scheduled PDSCH) belongs to can be transparent to the MAC.
Observation 2: Two TRPs would use two simultaneous SPS resources for the UE.
Proposal 1: Two SPS configurations per BWP can be provided to the UE for two different TRPs.
[bookmark: _GoBack]Proposal 2: The HARQ process ID calculation formula as agreed for the multiple active SPS(s) in the I-IOT WI is re-used for the mTRP.
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